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The Merciful one said; ‘his friend’ B SRR

OVERVIEW

The Xn>72 taught us if someone was a custodian, guarding a w7pi object, and he
was 233 NIvv W, he is not liable for 993 (even) if he is the 213. We derive this from
the word 17¥7 which is written by a 1?2 (regarding 213 NIV V). WYY means his
friend, however w7p1 is not considered ‘a friend’. Our M0N0 discusses the need for
a P10 to teach us that there is no 293 by 213 NIWY W0 by WP,

Moo states that word 1797 teaches us than only by v does he pay 793 -
- YIPN R

But not if he is guarding an item of w7p:.

nooIn asks:
= 2)) MYL V2 Ya51 vIpn "OIVNIY 1Y TPIY0NIN NI PHND 19%249Y NN

The °"1 is astounded! But why is the ?105 of %9 necessary to exclude paying

bo> for w7pn when he is 213 nayw 3w -
- 9aY NN XD 10N DAY Y99 9931 *NaponD Jwrona Pnyaw x9vY 8N

Since there is no oath taken where a w7pn item is concerned. However,
according to the conclusion of the X723 that we derive the exemption (by w7p2n)
from %2> and 7312w from one 19D, all is understood.

mooin asks:
- WP 119200 X9 WIND 5530 C290 WTPH OINY (w91 17992 19 XPDI NPT TIND ON)

And if you will say; but later in our P92 we derive the exclusion of w7pn from

! This noon references the X012 on 2,20.
2t is apparent that there is even no v12w 91323 by w7 (unlike ¥p1p [and nMnuw] see Mypap We 7"7 2,20 '0N). Since
the claimant is w7p77 (which is excluded from 7312w) there can never by an initial 712w to cause a 7y12w 7393 See
5v "7 2,27 My1aw Moo, However see 719017 SWon XK # 28.
? A 213 navv w0 pays 293 only if he first swore the 2w nyaw; however since there is no 712w where a w7ps item
is concerned there can be no 93. See WX> 7"7 2,20 Moo, We derive (in 2,711 »"2) that there is no w7pa2 7y12w from
the word v which is written by a 9mW (in 1,23 [2°0own] Mnaw) where it states regarding a 7312w that: n°27 5y 27PN
YT NIRON2 T [P R? OXR DOPPRT 2R (or from ) P05 which states 131 PR w°R 02 °2). Presumably the exclusion of wpn
from 993 is derived from the following (77) P105 which states: 11¥7% 0w 272> "3 ¥wd 727 5 %Y. Seemingly Moo is
asking why we need the two exclusions. Once w777 is excluded from 7y12w it is automatically excluded from 993.
* See later on this Ty and NooN there M2 7"7. See also mypap W 17"7 '01n 2,20 [TIE footnote # 12].
> There are no two 2?09 to exclude wpn from 9931 7y1aw, but rather there is only one 109 (and indeed once we
exclude w7pn from n¥12w it is automatically excluded from 253). See “Thinking it over’ # 1.
64,25 (Dwown) NMnw. See ‘Thinking it over’ # 2.
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%93, from the P09 of ‘and it was stolen from the house of the man’, we expound

the word ¥°X3 n°2»n to mean but not from the house of wTP. However in our x7n3
here we derive this exclusion from 3779, but not from X n°2n?!

N1B0IN answers:
- TWIR YUY TV 93 WTDN 5aXT WIITD YWINN XY 523 BNNT N5 U

And one can say that there too, we do not derive the exclusion of ¥7p71 from the

word woR, for the term @R is also applicable to w7p:7 -
- Tnnb’m WIN /N o mnw) 29037 DIVN NY)

And the reason ¥°X may refer to w7pi is not necessarily only because it is written

AR WOR ' — "7 is a man of war (where we see that 77 or TP is referred to as ©K) -
- 7P PYUY HY AUNY WIN PUY 7Y 991 YUY NINY 127 9937 DIV NIN

But rather because anything which is a masculine item the word @R is

applicable to it, and the word 7wR is applicable to any feminine item -
= (3 0v) DYDIPA NIHNN HX AYUN N5

For instance as it is written regarding the curtains (j9wn7 mMy*7°) ‘and you shall

attach a woman to its sister with hooks’; indicating that a feminine word 731> can be
referred to as WX and similarly a masculine word w7pi can be referred to as w°X. Therefore v X

cannot exclude wpr -
= YTPN %20 KDY 29N 10Y9 N2 TOUT WIN Na1n NWIO 91 ONN NN

But rather the explanation of the X713 there is that there is an obligation to pay
%95 only if it is stolen from the house of a man where the term ‘his friend’,

which is written in that 7109, is applicable, but not from the house of 277 which
cannot be considered 7¥7.

Moo responds to an anticipated difficulty:'!
SYIPN 1997 923 N0 VP 20N 1D RIY WD NIV IND VPINY TPHVNN 23) 22T 2IN)

And since that concerning a thief'? it was necessary to cite this 7195 to expound
it that one is liable for 993 only if he steals it from the house of the man — the
owner; but not if he stole it from the house of the thief, so since he cited this p10o

7 The fact that the 710 writes 'w°X' does not permit us to exclude wpn, for WX may refer to w7ps as well.
83 mos.
? See “Thinking it over’ # 4.
10y o,
" Why did not the X3 say there explicitly that w7p7 is exempt from 993 because it says 17y7; why mention n»an
woXiT at all?!
"2 This is referring to a thief who stole an object from another thief who stole it from the original owner. The second
thief is 1109 from 92.
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for a 212 he also cited it regarding w7p:, but the actual exclusion is from 3.

SUMMARY
The exemptions from 9921 72w by wpn (and mypap, etc.) can be derived from
one ?109. 1Y excludes w7p, but WX does not.

THINKING IT OVER

1. moon answers the first question by saying that according to the Xipon that we
derive 121 295 from one 109 it is understood."” However seemingly the question
still remains; why did the 7n write 179 (at least') twice."

2. nooIn asks that here we exclude w7pn from 177v7 and later we exclude w71 from
woRi7 nan 210.'° However there is seemingly no difficulty; in our X3 we exclude
wIp from 993 in a case where he is 213 NI W, however later we exclude wps
from %93 in a case where he actually stole from w7ps! What is 19010 question?!"’

3. Is there any connection between N1901N second question and the answer to the
first question?'®

4. Why does nmoon negate the proof from marn wx 172"

13 See footnote # 5.
4 See footnote # 3.
15 See ywir "1o.
16 See footnote # 6.
17 See mwn nom.
18 See TMvN "won WX # 34.
19 See 11 *won 1K # 37 and 7wn NONA.
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